
  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Economics 

(From CY – 2020 onwards) 

Second Year 

HISTORY OF ECONOMIC THOUGHT 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Explain Lessezfaire policy. 
 uø»±iÀ»õU öPõÒøPø¯ ÂÍUSP. 

2. What is the Marxist interpretation of history? 
 ©õºU]ß Áμ»õØÖ¨ö£õ¸Ò ÂÍUP® GßÓõÀ 

GßÚ? 

3. What is Marginal utility? 
 CÖv{ø»¨ £¯ß£õk GßÓõÀ GßÚ? 

 UG-A-1079 BEC–21X
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4. State welfare definition of economics.  

 |»¨ö£õ¸ÍõuõμzvøÚ GÊxP. 

5. What are the six Gandhian principles? 

 Põ¢v¯U öPõÒøP°ß BÖ A®\[PÒ ¯õøÁ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. State Malthus theory of population. 

 ©õÀu]ß ©UPÒöuõøP ÷Põm£õmiøÚ TÖP. 

7. Explain the theory of productive power. 

 EØ£zv vÓß ÷Põm£õmøh ÂÍUSP. 

8. Write a short note on the Menger – Wieser theory 
of imputation. 

 ö©[Pº & øÁ\›ß SØÓa\õmk ÷Põm£õmøh 
GÊxP. 

9. Discuss about theory of value and time element. 

 ©v¨¦ ©ØÖ® Põ» TÖPÎß ÷Põm£õmøh ÂÁõv. 
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10. What is Trusteeship principle and explain present 
relevance? 

 AÓU÷Põm£õk GßÓõÀ GßÚ? Auß uØ÷£õøu¯ 
öuõhº¤øÚ ÂÍUS. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the J.B. say’s theory of market. 

 ÷á.¤.÷\°ß A[Põi Âvø¯ ÂÍUSP. 

12. Discuss the protectionist policy. 

 £õxPõ¨¦U öPõÒøPø¯ ÂÁõv. 

13. Estimate the concept of general equilibrium 
analysis. 

 ö£õx\©{ø»a ö\¯À£õmøh PnUQk. 

14. Distinguish between internal and external 
economies of scale. 

 EÒ ©ØÖ® öÁÎ¨ ö£õ¸Íõuõμ AÍÄPøÍ 
÷ÁÖ£kzxU PõmkP. 

15. Analyze the Gandhian economic ideas. 

 Põ¢v¯¨ ö£õ¸Íõuõμ ]¢uøÚø¯ Bμõ´P. 
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16. Elucidate the theory of productive power. 

 EØ£zv vÓß ÷Põm£õmøh ÂÍUSP. 

17. Critically examine the significance of history of 
economic thought. 

 Áμ»õØÖ ö£õ¸Íõuõμ ]¢uøÚ°ß 
]Ó¨¤¯À¦PøÍ B´P. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Economics 

(From CY – 2020 onwards) 

Second Year 

MACRO ECONOMICS 

Time : 3 hours Maximum marks : 70 

PART A — (3  3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What do you mean by GDP? 

 ö©õzu EÒ|õmk EØ£zv £ØÔ }Âº AÔÁÚ ¯õx? 

2. Define unemployment. 

 ÷Áø»°ßø©ø¯ ÂÍUSP. 

 UG-A-1080 BEC–22X
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3. State the concept of autonomous and induced 
investment. 

 uÛ‰»uÚ® ©ØÖ® Tmk ‰»uÚ® £ØÔ GÊxP. 

4. Explain Keynes income multiplier. 

 Rßêß Á¸Áõ´ ö£¸UQ°øÚ ÂÍUS. 

5. Explain economic growth. 

 ö£õ¸Íõuõμ ÁÍºa]°øÚ ÂÍUSP. 

PART B —  (3  7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Discuss the importance of national income. 

 ÷u]¯ Á¸©õÚzvß •UQ¯zxÁzøu ÂÁõv. 

7. Explain the determinants of equilibrium level of 
employment. 

 ÷Áø»Áõ´¨¦ \©{ø»ø¯ {ºn°¨£øÁPøÍ 

ÂÍUS. 

8. What are the factors determining consumption 
function? 

 ~PºÄ ö\¯À£õmøh {ºn°US® PõμoPÒ ¯õøÁ? 

9. Explain the phases of trade cycle. 

 ÁoP_Çºa]°ß TÖPøÍ ÂÍUS. 
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10. Distinguish between economic growth and 
development. 

 ö£õ¸Íõuõμ ÁÍºa] ©ØÖ® •ß÷ÚØÓzvøÚ 

÷ÁÖ£kzxP. 

PART C — (4  10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Enumerate the Hayek’s over investment theory. 

 B¯UQß Av •u½mkU öPõÒøP°øÚ 

Gkzv¯®¦P. 

12. Elaborate the difference types of national income 
measurements. 

 ÷u]¯ Á¸©õÚ PnURmiß £À÷ÁÖ ÁøPPøÍ 

ÂÁ›. 

13. Describe Say’s law of market and the classical 
theory of employment. 

 ÷\°ß A[Põi Âv°øÚ²® öuõßø© 

÷Áø»Áõ´¨¦ ÷Põm£õmiøÚ²® ÂÁ›. 
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14. Define the consumption function and what are the 
factors determining consumption function. 

 ~PºÄ ö\¯À£õmiøÚ ÂÍUSP. ~PºÄ 

ö\¯À£õmøh {ºn°US® PõμoPÒ ¯õøÁ? 

15. Explain Hawbey’s monetary theory. 

 íõ÷£]ß £nU÷PõmiøÚ ÂÍUSP. 

16. Explain IS and LM curves and their application. 

 IS – LM ÁøÍ÷Põmiß £¯ß£õmiøÚ ÂÍUS. 

17. Elucidate the concept Keynesian theory of 
employment. 

 Rß]ß ÷Áø»Áõ´¨¦ ÷Põm£õmiøÚ ÂÍUSP. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Economics  

(From CY – 2020 Onwards) 

Second Year 

ECONOMIC STATISTICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What are the objectives of classification? 

 ÁøP¨£kzxu¼ß ÷|õUP[PÒ ¯õøÁ? 

2. Find the range and the coefficient of range for the 
following. 

 RÌPõs£øÁ°À \μP® ©ØÖ® \μPUöP¾ÂøÚ 
Psk¤iUPÄ®. 

 35, 40, 52, 29, 51, 46, 27, 30, 30, 23. 

 UG–A–1081 BECAL–21X
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3. Write the equations of regression lines. 

 öuõhº÷£õUQß \©ß£õmøh GÊxP. 

4. What is meant by cost of living index number? 

 ÁõÌUøPzuμ SÔ±mk Gs GßÓõÀ GßÚ? 

5. Explain the uses of normal distribution. 

 \õuõμn £QºÂß £¯ßPøÍ ÂÍUSP. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Explain the main characteristics of statistics. 

 ¦ÒÎ°¯¼ß •UQ¯z ußø©PøÍ ÂÍUSP. 

7. The monthly income of 10 families in a town is 
stated below calculate the median value : 

 J¸ |Pμzv¾ÒÍ 10 Sk®£ ©õu Á¸©õÚ® C[S 

öPõkUP¨£mkÒÍx. CvÀ Cøh{ø»ø¯ PnUQkP. 

Income 10-20 20-30 30-40 40-50 50-60

Families 5 7 15 20 22 

Income 60-70 70-80 80-90 90-100  

Families 12 9 8 7  
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8. Draw a trend line for the following time series by 

the method of semi average. 

 RÌUPshÁØÖÒ ÷£õUS ÷Põmøh ÁøμP. 

Year 1995 1996 1997 1998 1999

Sales (Rs. In lakhs) 18 24 26 28 33 

Year 2000 2001 2002 2003  

Sales (Rs. In lakhs) 36 40 44 48  

9. Calculate the coefficient of rank correlation from 

the following data. 

 RÌUPõq® uμÂß ‰»® öuõhº¦U öP¾øÁ 

PnUQkP. 

X: 60 34 40 50 45 41 22 43 42 66 64 46

Y: 75 32 34 40 45 33 12 30 36 72 41 57

10. A card is drawn from a pack of 52 cards. Find the 

probability of getting a king or a heart or a red 

card. 

 J¸ ^mkUPmiß 52 ^mi¼¸¢x J¸ ^mk 

GkUP¨£kQÓx GßÓõÀ Auß {PÌuPÄ GßÚ? 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. What are the chief functions of tabulation? What 
precautions would you taken into? 

 AmhÁøn¨£kzxu¼ß •UQ¯¨ £oPÒ ¯õøÁ? 

AmhÁøn¨£kzxu¾US EshõÚ •ßöÚa\›U 

&øPPøÍ ¯õøÁ? 

12. Find the coefficient of mean deviation from mean 
from the following data : 

 RÌUPshÁØÖÒ \μõ\› vmhUöP¾ÂøÚ Psk¤i. 

Age in years 0-10 10-20 20-30 30-40

No of persons 20 25 32 40 

Age in years 40-50 50-60 60-70 70-80

No of persons 42 35 10 8 

13. What are the components of time series? Explain. 

 ÷|μzöuõh›ß TÖPÒ ¯õøÁ? ÂÍUSP. 
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14. Calculate Fisher’s ideal index from the data given 
below. Check whether it satisfies the time reversal 
test. 

 RÌUPõq® uμÄPÎÀ, ¤\›ß ]Ó¨¦U SÔ±møhU 

PnUQkP. ÷©¾® Põ» ©õØÖa ÷\õuøÚø¯ 

v¸¨v£kzxQÓöuß£øu £›÷\õvUP.  

 Base year  Current year  
Commodity Price Quantity Price Quantity

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

15. Ten coins are tossed simultaneously. Find the 
probability of getting. 

 (a) atleast seven heads 

(b) exactly seven heads 

 (c) atmost seven heads 

 J÷μ ÷|μzvÀ 10 |õn¯[PÒ _sh¨£mhõÀ Auß 

{PÌuPÄ GßÚ? 

 (A) SøÓ¢ux HÊ uø»PÒ 

 (B) \›¯õP HÊ uø»PÒ 

 (C) AvP£m\ HÊ uø»PÒ. 
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16. Fit a straight line trend by the method of least 
squares for the following data and estimate the 
earning for the year 2008. 

 RÌUPshÁØÔÀ ÷|º÷Põmk •øÓø¯U PnUQkP. 

Year : 1999 2000 2001 2002

Earning  
(Rs. In lakhs) : 

 
38 

 
40 

 
65 

 
72 

17. What is regression? List down the differences 
between correlation and regression. 

 öuõhº÷£õUS GßÓõÀ GßÚ? Ehß÷£õUQØS® 

öuõhº÷£õUQØS® EÒÍ ÷ÁÖ£õmiøÚ 

ÁøP¨£kzxP. 

  

——––––––––– 


